


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12


0.12�
1396.


1446.


1456.


1445.


1419.


1377.


1333.


1283.


1248.


1242.


1277.


1330.


1396.�
1101.


1109.


1108.


1099.


1085.


1066.


1049.


1038.


1037.


1047.


1067.


1087.


1101.�
1035.


1057.


1067.


1069.


1062.


1047.


1032.


1016.


1001.


994.


996.


1009.


1035.�
1397.


1447.


1456.


1445.


1420.


1378.


1334.


1284.


1249.


1242.


1278.


1331.


1397.�
954.


941.


941.


945.


946.


946.


948.


951.


953.


957.


959.


961.


953.�
0.76


0.81


0.82


0.80


0.78


0.75


0.72


0.67


0.63


0.62


0.65


0.70


0.76�
-73.4


-72.4


-71.8


-71.2


-71.0


-70.8


-70.8


-71.3


-72.5


-74.1


-75.1


-74.8


-73.4�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.12�
1358.�
1076.�
1032.�
1360.�
952.�
0.73�
-72.6�
�



pw2 / pw1	=	0.845


p / pw1	=	0.592


p / p2 mean	=	0.945


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25


0.25�
1590.


1595.


1593.


1585.


1572.


1558.


1550.


1550.


1558.


1565.


1572.


1582.


1590.�
1175.


1173.


1172.


1172.


1175.


1178.


1181.


1182.


1181.


1179.


1177.


1176.


1175.�
1129.


1136.


1140.


1139.


1133.


1122.


1113.


1108.


1108.


1111.


1118.


1124.


1129.�
1592.


1598.


1595.


1586.


1573.


1558.


1550.


1550.


1558.


1565.


1573.


1583.


1592.�
923.


919.


929.


945.


962.


973.


976.


971.


960.


949.


942.


932.


923.�
0.92


0.92


0.91


0.89


0.87


0.85


0.84


0.85


0.86


0.88


0.89


0.90


0.92�
-71.6


-71.3


-71.1


-71.1


-71.6


-72.2


-72.8


-73.1


-73.0


-72.7


-72.3


-71.9


-71.7�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.25�
1574.�
1177.�
1124.�
1575.�
949.�
0.88�
-72.1�
�



pw / pw1	=	0.979


p / pw1	=	0.590


p / p2 mean	=	0.942


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38


0.38�
1596.


1601.


1606.


1607.


1604.


1598.


1587.


1574.


1564.


1564.


1574.


1589.


1596.�
1198.


1194.


1188.


1184.


1182.


1184.


1187.


1192.


1197.


1200.


1201.


1200.


1198.�
1141.


1146.


1151.


1155.


1157.


1156.


1151.


1143.


1134.


1127.


1129.


1135.


1140.�
1596.


1602.


1607.


1608.


1605.


1599.


1587.


1574.


1564.


1564.


1574.


1589.


1596.�
971.


963.


953.


952.


956.


968.


985.


998.


1005.


1001.


991.


977.


971.�
0.87


0.88


0.90


0.90


0.89


0.88


0.85


0.83


0.82


0.82


0.84


0.86


0.87�
-72.2


-71.8


-71.3


-71.0


-70.8


-70.9


-71.3


-71.9


-72.6


-73.1


-73.0


-72.6


-72.2�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.38�
1589.�
1193.�
1143.�
1591.�
977.�
0.86�
-71.9�
�



pw / pw1	=	0.989


p / pw1	=	0.607


p / p2 mean	=	0.970


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50


0.50�
1573.


1578.


1590.


1599.


1605.


1606.


1605.


1601.


1590.


1575.


1566.


1567.


1573.�
1209.


1206.


1205.


1201.


1195.


1190.


1189.


1189.


1194.


1200.


1206.


1210.


1209.�
1146.


1148.


1155.


1164.


1170.


1174.


1176.


1176.


1171.


1163.


1153.


1146.


1146.�
1573.


1578.


1591.


1600.


1605.


1607.


1606.


1601.


1590.


1576.


1567.


1568.


1573.�
1023.


1016.


1009.


1003.


997.


993.


995.


1002.


1016.


1029.


1034.


1030.


1023.�
0.81


0.82


0.83


0.84


0.85


0.86


0.86


0.85


0.83


0.80


0.79


0.80


0.81�
-72.6


-72.4


-71.9


-71.3


-70.8


-70.4


-70.3


-70.3


-70.7


-71.4


-72.2


-72.7


-72.6�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.50�
1587.�
1200.�
1161.�
1590.�
1013.�
0.83�
-71.5�
�



pw / pw1	=	0.988


p / pw1	=	0.630


p / p2 mean	=	1.006


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62


0.62�
1560.


1559.


1562.


1569.


1581.


1591.


1598.


1600.


1597.


1590.


1577.


1566.


1560.�
1201.


1203.


1206.


1207.


1204.


1198.


1192.


1187.


1185.


1187.


1193.


1200.


1201.�
1166.


1162.


1159.


1161.


1170.


1180.


1186.


1189.


1188.


1185.


1180.


1172.


1166.�
1561.


1560.


1563.


1570.


1582.


1591.


1598.


1601.


1598.


1591.


1578.


1567.


1561.�
1047.


1045.


1043.


1041.


1036.


1030.


1023.


1018.


1017.


1025.


1037.


1047.


1046.�
0.78


0.78


0.78


0.79


0.80


0.81


0.83


0.83


0.83


0.82


0.80


0.78


0.78�
-71.4


-71.7


-72.0


-71.9


-71.3


-70.6


-70.0


-69.6


-69.6


-69.8


-70.3


-71.1


-71.4�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.62�
1578.�
1197.�
1174.�
1581.�
1034.�
0.80�
-70.8�
�



pw / pw1	=	0.983


p / pw1	=	0.643


p / p2 mean	=	1.027


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75


0.75�
1495.


1503.


1491.


1495.


1522.


1545.


1558.


1567.


1S67.


1551.


1529.


1501.


1495.�
1163.


1167.


1173.


1178.


1184.


1186.


1184.


1177.


1169.


1162.


1160.


1161.


1163.�
1161.


1161.


1152.


1153.


1169.


1184.


1192.


1197.


1196.


1186.


1174.


1163.


1160.�
1497.


1504.


1493.


1496.


1523.


1547.


1560.


1568.


1568.


1553.


1530.


1503.


1497.�
1054.


1053.


1057.


1061.


1062.


1061.


1055.


1049.


1040.


1035.


1039.


1050.


1053.�
0.73


0.73


0.72


0.72


0.74


0.75


0.77


0.78


0.79


0.78


0.77


0.73


0.73�
-69.8


-70.1


-70.9


-71.1


-70.5


-69.8


-69.3


-68.7


-68.4


-68.6


-69.0


-69.6


-69.8�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.75�
1524.�
1171.�
1173.�
1530.�
1052.�
0.75�
-69.7�
�



pw / pw1	=	0.951


p / pw1	=	0.654


p / p2 mean	=	1.045


�



x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.00


0.08


0.17


0.25


0.33


0.42


0.50


0.58


0.67


0.75


0.83


0.92


1.00�
0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88


0.88�
1431.


1412.


1381.


1373.


1400.


1449.


1516.


1537.


1534.


1522.


1493.


1455.


1431.�
1099.


1101.


1113.


1127.


1140.


1152.


1162.


1160.


1149.


1131.


1113.


1101.


1100.�
1194.


1180.


1158.


1147.


1153.


1177.


1206.


1220.


1222.


1220.


1216.


1206.


1194.�
1435.


1415.


1384.


1375.


1401.


1451.


1518.


1540.


1537.


1525.


1497.


1459.


1435.�
1063.


1062.


1065.


1070.


1074.


1081.


1079.


1076.


1070.


1060.


1059.


1062.


1063.�
0.67


0.65


0.62


0.61


0.63


0.66


0.72


0.73


0.74


0.74


0.72


0.69


0.67�
-63.6


-64.4


-66.3


-68.1


-68.8


-68.1


-67.3


-66.6


-65.9


-65.0


-63.9


-63.3


-63.6�
�



Mean flow :


x/t


�
z/B�
p#1�
p#2�
p#3�
pw�
p�
M�
beta�
�
0.50�
0.88�
1457.�
1127.�
1192.�
1463.�
1070.�
0.68�
-66.0�
�



pw / pw1	=	0.909


p / pw1	=	0.665


p / p2 mean	=	1.063
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4TH STANDARD CONFIGURATION


ANNULAR TURBINE CASCADE


(1212 MRAX)


DOWNSTREAM FLOW








Mean upstream flow conditions :


pw1	= 	1609	mbar	p1	=	1568	mbar


M1s	=	0.19		beta1	=	-15.2	deg





Static wall pressures downstream :


p2 hub	=	923	mbar	p2 tip	=	1092	mbar





Mean isentropic downstream flow conditions :


(computed with mean of wall pressures)


p2	=	1007	mbar	M2s	=	0.85





Static pressures referenced to total pressure upstream pw1 :


p2 hub/pw1	=	0.572


p2 mean/pw1	=	0.625


p2 tip/pw1	=	0.677





Measurement with probe	:	LP 2.5-1


Probe holder ansle	:	-70.0 degrees


Pressure gradient correction (1=yes,0=no)	:	1





Probe measurements :











